| Efficiency vs Dxy |
> 0.1
<

5 S
L0 | s S S
< A T T
@.08—----%------% ------- R St S ALY UL AR
ko) A T T
KT O e A AN 1 A S S S S
S S O
0.06 -t mmdrrrdee (

oast o
ol
oo P
oazt o
S T LaTmes
o+ Lo

Rati

=
!

0955 56-16-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_TTbase

| Efficiency vs Dz |

—— DQM_CKF_TT_retrainOldFiles125 v2_prelimWP2_epoch4

N 0.1
o

& F | s
.é_?.08; { B LT R A R .."'g".. ]
@) C : iy
.07l Y ) A IR o R
o C T :
0.06% """""""""""""" ¥
0.05 _" b 1 S S .u;...
004 L' “ '" ' """""" """""" """ )
0.03ff-|-{HIE 1 } ----------- T

0.02

0.01 -+
o+

.
ool |]:
> H A dib

Rati

1 e 900--00--o-|-o o] -- 99

0936 =20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


